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QUESTION 1

Which protocols use UDP as a transport protocol by default? (Select two.)
A. ICMP

B. RIP

C.ISP

D. DHCP

E. Telnet

Correct Answer: BD

QUESTION 2

Which action sets are available by default to be applied to traffic within a security profile? (Select three)
A. Priority

B. Block

C. Rate Limit

D. Permit + Notify

E. Trace

F. Pass

Correct Answer: BCD

QUESTION 3

In a Routed Deployment with NAT configuration, which entry must be configured to hide private network addresses?
A. Destination NAT

B. Source NAT

C. Base NAT

D. Target NAT

Correct Answer: B

QUESTION 4

Latest HP2-W100 Dumps | HP2-W100 Practice Test | HP2-W100 Braindumps 2/3


https://www.pass4itsure.com/hp2-w100.html
https://www.pass4itsure.com/hp2-w100.html
https://www.pass4itsure.com/hp2-w100.html

. VCE & PDF https://www.pass4itsure.com/hp2-w100.html
E 2024 Latest passditsure HP2-W100 PDF and VCE dumps Download

PassditSure.com

What must be entered to launch the OBE wizard for an HP TippingPoint SMS?
A. SuperUser

B. License number

C. Root User

D. Security Level

Correct Answer: D

QUESTION 5

What is the function of NAT?

A. It performs Layer 2 switching.

B. It performs Layer 3 routing.

C. It evaluates and redirects matching traffic into secure tunnels.
D. It provides translation between a public and private IP address.

Correct Answer: D
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